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1. (6 pts) Find the equation of the line passing through the points {2,-1) and (-1,4).
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2. (9 pts) Find the domain of f(z) = e
z? — 3z
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3. (12 pts) Solve each equation.
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(b) In{z+2) +In(z — 1) = ln(3z + 1)
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4. (8 pts) Sketch the graph of f(z) =2 +In(z + 1) on the follwing plot.
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(b) tan(2760°) <tan(24¢ J= \B
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6. (10 pts) Draw the graph of y = —2sin(¥FX— g ) on the following plot.
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7. (10 pts) Compute the following values by using related trigonometric formulas. Show

your work.

(a) sin(105°)= Sin ( 6014 5% ) = sin(60') cas(4 5%} + sin (45 ) ces(40°)
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8. (12 pts) Find all # which satisfy the following equation.

tan®(z) +sec(z) =1
tox = seex —15 sk -ltsx =1
sec +secx-9=0
let U= secx Wr+ -2 = O
W2 u-1y =0
U=-2. or u=1
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9. (8 pts) Compute the following values.
(a} sin(arctan(1)) = Sl\r\(’(f/ ) — x(z
“ 2

(b) tan™ (tan(34 “3( i) = wli

10. (9 pts) Use basic trigonometric identities to verify the following identity.
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11. (8 pts) Determine whether the following statements or equations are TRUE or FALSE.
Clrcle your answer.
(a) A periodic function can’t be one to one.
(b) If f(z) is one to one, then f~'(x) may not be one to one.
(c) Domain of f o g is equal to Dom(f)NDom(g).
F  (d) For all z, | arctan(z)| < %.
F  (e) If the side lengths of a triange are 2,3,4, then one angle must be obtuse.
@ (f) The period of arcsin(x) is equal to 2x.
@ (g) The point (4,1} is on the circle with center (1,2) and radius 5.
@ (h) The sum of the absolute values of two numbers is the same as the absolute

value of the sum of the two numbers.



